- SRRy i 500 i -—UUKLE'-[.
Hoason Pape, contains 200 uggt:}ons_ (X9 e T 200 W § |

All question
One questioy, o€ compulsory:/ 10" %%gﬁ;q%'aa I Y

Max ™ Carrjo half mark |
Timér:n:lzuﬁggra;ks £100 Wz gzg
1. ' _ | ;
Ofe (1o ber of poles in gty
(© Legs m@ainngl;gﬁfmleﬁ In stator N
%’E%u;] to number of poles u%statur _
L (B) et g e sy

©) Ry gt o g d (D) wet# et v % gum

2. Lubricant ygeq for ball bearing is usua]|

%-ﬁaﬁ,,% hgm%%?me S Mineral oil ‘(D) ‘Molasses
) Tz (@) ow @\ SR (D) e

3.  Whatis apparent power in AC opératioy, 9

(A) Product of voltage and eurtent
Product of rms voltage and rms current

Product of voltage'and current at ng joag
Product of'voltage and cu%Iren‘t at full load

q.qt. - & FATTE ?

(A), Sz ik (B) rms Slieea 3¥ rms TRT =1 o

(©) mmw-ﬁw%ﬁmwm@ %mmta"rmr?a}skmwm
reoonnnendedtoﬂnelightandfanmbecimﬁtaspaﬂmnﬂas?

4.  What is maximum power
(A) 3000 watts - (B) 1500 watts (C) 800 watts (D) 750 watts
31%1 ToheT T eTgwfi & 9

IE T 313 eméz ofit 4 war-afdhe & weew v o o
(A) 300097  (B) 1500afz (C) 8007k (D) 7504f
5. Which type of fuse is used for electronic circuits ?

(A) Ferrule contact cartridge fuses (B) Rewireable type fuses

C) HRC fuses . (D)_ Drazed screw type cartridge fijges

TRt 3 o e ah7 g ST A o W € 2

(A) HFT PIRTR FifT R (B) IF: TR-¥T

(C) HRC W | (D) S TR 29 et Wt
6. Which conduit fitting is used to join additional conduit pipe in long ryp of

conduit wiring ? |
Bend Elbo (C) Tee {D)_ Coupler
%%ﬁr%ﬁ%@ﬁaﬁ%w%ﬂﬁw*mmm%
1 3941 fepaT AT 8 7 f i
(A) S8 (B) T ©@& @ www
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7. Which is the disadvantage of PVC casing and capping wiring ?

: d risk of fir
A) Cost (B) mﬂmmable an sk of fire
%C)) Rg;u;:et:glr;lled man poWer (D% Extension not possible
PVC $ftm it it amaftn &1 316y 27 8 7 .
(A) e R | (B) Sl e

©) el R AT (D) Rrew @ T

8.  Whatis the fault in a food miXer if it runs intermittently ?

(A) Worn out brushes (B) Armature coil open

(C) Defective commutator (D) Field winding partially short
& 5 Tt sl were & A iy Ay 2 8 7

(A) Tern-fier s (B) el ST e

(C) wivgm wrpe (D) &g aTem 3w i

9.  Whatis the use of mortise chigel ?
(A) General chiselling work in wood
(B) Making rectangular holes in wood
(C) Paring and finishing joints in wood
%Light chiselling cleaning sharp corners in wood
SR F IR ?
(A) :g g = 3+t ﬁ?f
B HAARR 1&g §HT
%C% wne! o Sitg <t AT aik Reffi
(D) g1 dften SR ) a6 F0) ¥ fore wedy St B

10.  What is the permissible leakage current in domestic wiring installation ?

(A) 1/5 x Full load current (B) 1/50 x Full load current
(C) 1/500 x Full load current (D) 1/5000 x Full load current
TR AT SRR § S S T R 9

(A) 1/5 x ot ¥R 5wy - (B) 1/50 x yuf wr wmy

(C) 1/500 x 9uf W gy (D) 1/5000 x i W &Ry

11.  What is the test to be carried out by using megger ?

(A) Polarity test (B) Insulation resistance test
grlg Earth electrode resistance test (D

) Earth conductor continuity test
1IN FTF B T O R IR

(A) Yavr 2 (B) Frgmive vy e

(C) ¥-3owTe vy 3= (D) -=rers e e
12.  Which Trinciple the earth resistance tester works ?

O i g (5 Bt

}- S bakent R e ; éming’s left hand rule

A) (B) 3=y 3wy

(C) T vy

(D) T 5 a1 vy oy R >

T S n, m—— e, —— —
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13,

What ; 1

&} N the effect if 2 person TeCeIVe 4 ok current of 20 mA
c epsation B Pﬂinful Shﬂ'Ck :

D) Become unconscious

He :

e 'Gtrﬁ.i.han convulsions i

T 20 mA U BT FCPT ey

(A h

). % Gy 7 (B) AT T () ﬂqﬁg%&) g BT

14. Whijc
h ; : :
é} g: Iﬁﬁﬂ"“] equipment L series ‘Y{lBe MEB’S are used ?
alogen 1 ocomotives
(A) ﬁgﬂ%?q;}nﬂp% L Q"ﬁ THR & Mcg; A?"'%ﬂélgl%lnners g%%
15 Whatph (B) T ) e B ¢
A) is the megger reading in a dead ) AT (D) FAgEAD
.gg ?ﬁ%M Q B) I ﬁ,( Q ﬂlgrt wiring installation ?
A 6 ;mﬁn;@émﬁwmmg; 500MQ (D) Infinity
16. nQ (B) 1MQ
ghiéecilstributipn transformers are nu(Cn;allSOU MQ (D) A
A Tu'-"“d ry in star 7 y connected as primary in delta
T avoid over loading
Tg méllmtam constant voltage
T s g
ase 4 wi
B E 7 St % e 3T 2 4 e & w # wt GH
) S e R
(C) FTHHHH mﬁm%@gﬁ |
(D) 3 ¥ 4 T AU  Frar foraor o ferg
17. Which of the following i :
(A) A mobile g is not an Blectr?;;c d:vice ?
C) A ma gﬂj fying glasg - Computﬁr
- - (D) A keyboard
%‘:;l AP ﬁg?ﬂiz ;;qa;m T2 7 keyboar
A FR (C) e =T
18. What ;s s (D) #-=rd
at 3001?]‘:?[5 conductivity of an extrinsic type semiconductor electroni .
%; lﬂaxinﬁeum g; zero i
can’t i 19
300 K T T 37 qiep-gaet it
(A) TETH ﬁﬂ?ﬂﬂm@ %mmt ?
() fowrifca el 2 wend (D) Frewam
19. Which reglon of the transistor is highly doped ?
&J collector ?Ia); m emitter and
3.““'* (B) YR
(C) W (D) i Feerin 3l e

5 Code No. ; C-&lﬁu?j‘,ﬁ;—ﬁ-._‘
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Why do we use CE amplifier 25 2 large gigng| class A amplifier 2

20.
(A) Ithas very high output im C€. (B) It has very high input impeg,.
© It has very high volta h stabl e
o CE T Yo o (D) s vey much stale. Rt ;
(A) mﬁagaaaﬁ«mmw% | (B maqgaﬁﬁawm
2. Why there is a need for heat sinks in class A amplifier ?
(A) To control the external teMPeragyye
(B) To avoid temperature changes affecting the transistor
(C) To control heat dissipation
(D) To increase output reswtance
(A) msﬁ ?ﬂmm I ﬁzrﬁﬁ HET
(B) Eg(m % Wit =Yz
(C) TS
(D) i nﬁ‘lﬁw aﬁ TG
22. The transconductance of FET depends upon
(A) drain supply (B) the type of FET
) gate to source voltage (D) gate current
FET %
(A) 39aTE FTYfd o 1 lpexam@uggmm
(C) " @ I Sieea
23. FET acts as constant current source in
(A) ohmic regmn (B) breakdown region
(C) pinch off region (D) Both (B) and (C)
FETHaa ISP A a® ﬁmwi |
(A) 3w &= B) ¥wH &1 (C) Haﬁ?ﬁa (D) &Ft(B)IAR(C)
24. The primary control on drain current in a JFET is exerted by which of the
following ?
(A) gate reverse bias (B). size of i:‘lepletlnn regions
C 1 hannel resistance
.(TF%ZTvg tage drgﬁ.r a;;oss channel (D ';I'{T o N 7
(A) 2 fead T (B) Y 43T 1 TR
(C) 4t W S ra D) ST
25. n“{hﬁ a JFET is cut off, it’s like an Smmh and when it is saturated,
Slike a switch
(A) closed, Clos (D)_ clo:
:'{!'IIEETR-aﬁqagm W—:ﬁﬂm %g‘"’%m é'“'“‘
— W Hrwgd
E;a;-(—{‘—f“ (B) @mw ©) @ W (@) T

No. * C-816/2022/Series- 6



26.

27.

28.

29,

30.

31.

32.

The gate. . of a JFET sho
80 deofa uld
?8 'f'é’};:,as? - d“; Ellie reversefttylilaseg
' ; above
JFET %‘rﬂaéd biase WW l none of the
ES)) Ty (B) yyafelie amg™
In a s wrre (D) i & WY e
ne

tWork consisting Of lin€ar resigt o and ideal voltage source, if the
Vil“e. Of resistors are doubled, then vo|¢, e across each resistor
g ; INCreages four times Hi remains unchanged

doubleq D) halved
e sttt o e e g ¥ g o , R st 7 A

TR gy o At A AT A Sy |
(A) SR 1 g et (B) T SR e
(C) ST/ st (D) et 2 mAh
‘Khwh of the following is true about an jdeal voltage source ?
EC; large emp " B} Snfmite rasistance
ez sgm F A A A AT 2

(A) YIwfe  (B) BRiemf  (C) welemf (D) == gfoQy

Which of the following is not a physical cmx[l)ponent of an electronic circuit ?

A) 1\g.l_gjzg;:iftur (w%l[mor . ‘alag:%?ﬁ %iq?de (D) Temperature
(A) Tuf B) W= (C) sHE (D) YHE

Which of the following factors affect the mechanical properties of a material
under applied loads ?

A; Grain size g_g Shape of material

C) Content of alloys Imperfection and defects
TG MR e o 3 & 0 1 oo Ted 36 Wi (ot b e St R 7
(A) Uil H1 AHR (B) e w1 AHN

(C) Tosramgasi 6 wen (D) rquian 3R @it

Which of the following is a basic classification of engineering materials ?
A} gcttlgl;letals & no tal %Iﬁgﬁ;%%tgzse

L 3 i . 1:1-1:(::.!:&\?'_‘Fis.ah_r o | 37

A

(©) 2 g 3 s © AR

ich of the following term is used to define the temperature at Whic
gg;fance_ changes its st%tus from solid to hcg_ned ? e h g
8 o point D) corderaring oo
C) boiling point 2 ﬁp
5 iy 3Srg & geere &8 F1 8 T8 AHH B IR 5wy N
B 1 G AV B R 7 T

(A) TIEH (B) fewis (C) FH (D) “‘""f&g

s Bp——
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33.

34.

35.

36.

37.

38.

39.

Which of the following is not a type protective coating 7 }

g\t)' Non-metallic (B) metallic (C) inorganic (D) orgyy.
54 1t s 1 YT T g7

(A) 3TYTRfiy (B) urg (C) Imle (D) iy

Which among the following is not ap amorphous material ?

g_g lead (B) glass (C) rubbers (D) Plastics
33 9N arfreshy ?

(A) s (B) wiw (C) 3 (D) wnfes
The thickness of insulation layer provided on the conductor, i cqp)
depends upgp
(g; OPerating voltage * (B) current to be carried
%DWer factor (D) Both (A) and (B)

ST R g et s + AR
(A) SEIE Stegar (E)aia-gq%ﬁaﬁarﬁﬁ uRT
(C) W wpories (D) 3Hi (A) 3kt (B)
a )erji_ch Materials the magnetic anisotropy is followed ?
lamagnetic (B) paramagnetic (C) ferromagnetic (D) None of these
Lk HT;%j ¥ gada% e 1 stgemor gty & 2
(A) TEARRs  (B) it © WfeF (D) wHIRE

(A) greater than that of free space,

(B) considerably greater than that of free space,
(C) less than that of free space.

D) considerably less than that of free Space. -
9are S Bt & Rl aromearmy |

(A) G AR & ST ERA R | (B) T Smahrer & wge ey et 2 |
(C) TR 1T @ 7 et & | (D) T Arehrer § wgq 9 B R |
Which of the following attributes explain why pure metals are not frequently
used in engineering applications ? _

A fin (B) hardness C) brittleness (D) luster
By 8 w1y e % WGt araw A R
I9ART 7T Y 1wt 7 _
(A) BRI (B) WHIA (C) wtan (D) ===

Which element of hydroelectric power plant prevents the penstock from
water hammer phenomenon ?
(A) Valves and Gates (B) Draft tubes

- Surge Tank
g%%%ﬁmmmmmmag)w%ﬁmﬁu?gi 7
(A) arv3hie (B) gREE (C) e arf (D)

Code No.: C.816/2022/SeriesB 8



40,

41.

42.

43.

45.

W‘lich ) 2 |
f . ‘ le fue ' o
%2 Thnrl%;?e 1S aﬁgss‘carbgn (C) P otﬂSElum (D) Grap
% 8 3y e fe1 8 7 o

53; My~ (g) #°7 () ﬂ‘f?'g‘“?”

at are of a Steam Power pPlant
the components . wet

A Evaporator, E‘nndenseru Boiler, Expansion valvs

(B) E‘-'apnratur, Condenser, Boiler, Turbine =

(©) Bﬂiler, Turbine, Condenser, Pu!:np

(D) Builer‘ Turbine, Pump, Expansion valve

TSR eyyeg 3 w7eeh 71 € 7 e e, o

(A) oy, gufys, ser, TS (B) T, A
(C) haer, pafn, s, T (D) R, T T

Whi i t of a ‘Furnace’ ? Vapour
(A) c;ui?;;s . a?Bt;utp;ir (C) Flue gases (D) Water

P idsh e IaGE 7 . 0w

(A) fwdg  (B) (€) ®L O e cner®
The best capable alternative SOurce which can mee

demand is ) ucleat povies it

(A) thermal power plant ot JOE DO
tric power plant (D) geo
O e, i < s o st 1 T
(A) e IR (B) ;ﬁ'ﬂtm:tm A
(C) TR TR T (D) Shafepler TR =T .
' i cos
Which of the following are not taken as operation and maintenance

economics of fipelemy PO plant (B) Salaries and wages of staff

A) Taxes and Insurance Cost of processing materials
EC) Cﬂg;’;ﬁé‘% # fre ﬁ%);m FaTE IR AT TR F ¥ 3§
foren <1 &b (B) R H TR AR I
Lzl :
(A) *‘mﬁ T 1 AT (D) STt €A 1 WO
©) ¥ orall efficiency of nuclear power plant ?
¢ is the oV 25 10 30% | (C) 30t040% (D) 50to 709

qr )ﬁazsa_,‘o% ©) 30340% (D) 50 70y,

‘ Code No. : C-816/203 2
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46.

47.

48.

49,

|

and high Pressure limit of

Rankine cycle operating O 1O Pressure Jimit of Pt t cycle Operating betwee

(A) has higher thermal effiCiency (a1 the Camno
it erating between sg
(B) izT?ogz:iﬁzinal efficlency than Carnot cycle op g i
r Hmits. ' ating between s
Eazszzrrselmle:ma] efﬁClEncy as Carnot cycle operating pe ar
Pressure limits. .
) may be more or less df;:lgn*:.ilding upon the%gngrt;
T I, 3R I3 €@ M )
(A) ﬁm%mﬁ%m%m%ﬁmﬁgﬁéﬂﬁ?ﬁ%
(B) ﬁmm;ﬁmaﬁ%mwﬁamﬁﬁmm@mamﬁ% |
(C) ™ 7o gy wtraf & 9 oy e = 5 A
(D) T w Rt 0 21 501 ) ey 2 |

[n Rankine cycle, the work output from the turbine is given by
(A) change of internal energy between inlet and outlet

(B) change of enthalpy between inlet and outlet

(C) change of entropy between inlet and outlet

(D) change of temperature between inlet and outlet
ey % o

T HIYL Yfem g |
(A) 3% 3 et % v 3T T o e
(B) maﬂtﬁﬁm%m@ﬁmw
(C) 5% 3 Frere % 7o G 1 e

(D) mmm%mmﬁmw

Which of the following contributes to the imp
Rankine cycle in a Therma] Power Plant ?

(A) reheating of steam at intermediate stage

(B) regeneration use of steam for heating boiler feed water
(C) use of high pressures

g)g' All of these

ﬁ#ﬁwﬁawmﬁﬁﬂmﬁwéﬁwﬁmm%?
(A) R =0 R 919 %1 [ qem

(B) mﬁgmﬁﬁmﬁam%%ﬁrmwy:mm

rovement of efficiency

A simple Rankine cycle produces 40 M

W of power, 50 Mw of process h
and rejects 60 MW of heat to the Surroundings, What is the utilization fag
of this c%-g,geration cycle neglecting the ump work 9

T Tt = S 40 MW SR, 50 MW S ey
mmﬂﬁ?mﬁlmﬁﬁmﬁqwmﬁgwmh

(A) 50 (B) 60 (C) 70 (D) 80




50.

51.

52.

53.

55.

CDnSd f_ ﬂ
er a uniform electric field the z-direction. The potentlﬂi

C
; Gl%lhexyplanﬂ fora%wen ([B)} all of thescmg
Eﬂiaﬂﬂ |
o R T R | e ey 5 R
RAm, %f?{ﬂﬁﬂﬁx TR () defl

Fiv
€2V cells are connected N paralle] The output voltage 1s

¥ 2 Hh%aammﬁﬁgﬁqﬂlhﬁqaﬁm I

5'31: B) 15V ) 175V (D) 2V £
elecl;g‘on: “g “,:C following materig| | is most suitable for making cor€ ©
(C) Cu-Nialloy (D) Soft irgﬂ?

1(_:‘_“)t Air wéB Steel
AR W F F TR &5 FoTQ R AT IR
(A) & (B) WM (C) Cu-Ni fsrwg(D) T

Which of the following does not use the application of eddy current ?

(A) electric power meters (B) induction furnace
D) magnetic brakes in trains

) LED lights

gﬁﬁ%aﬁqﬂmm%mﬂwﬁqﬂmﬁ ?
(A) R e icd . (B) W BWE
(C) LED wT5cH D) P TEFI D
Magnetic force acting on a unit positive charge moving perpendicular to the
magnetic field with a unit velocity is called
(A) Magnetlc flux (B) Magnetic field intensity

C) Magnetic mductmn (D) Self-mductance

5 méuﬂm R FAW FFH T
Hgardl
(A) SaHm A (B) qeha &
: (D) W-3Hed

© _
rove the power factor in three phase circuits, the capacitor bank is

To 1im

connecte A ected in delta to make
capacitance calculation easy
capacitance very small

B

C $§ ﬁﬁ%ﬁ?ﬁlgﬁgc Iijcg:ﬂtange ﬁH{:ﬂft‘ecunm PN i
Wiﬂsﬂ?ﬁﬁﬁl

(A) e 9 7 B3

€) == g ) TE T

D) ,,faa-gurrai%gm
— 11 Code No. : C-ﬂlﬁnozysen
e-§
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57.

58.

59.

60.

61.

62.

63.

to three phag, .
The percentage of power incr¢aseq from single phas€ is
R St 3 it e 2T Ty b "
o 30 (B) 100 (C) 150 0
ich is a digital transducer

(A) S train gauge (B) Encoder (C) ’I‘hermistl)f (D) LVDT
i Wﬁ?
%ﬂ AR ) W‘ﬁf (C) uffet , (D) Lvpr
er e
A;mkdg;;lé% golluwmg recorder giyeg séow (r}eas aﬂ% 7 ic
C DSCII Ggra hic f ; X-Y recorder
0 Rk s AT e A

(A) w (B) MH® () s (D) X-Y Rt
The outstanding characteristics of a D .C. amplifier is its

ablllty to amplify D.C. and low f; cy signals.
t} temperature gtagllty it da s

utmost economy.
avmdance of frequency sensmve components.

(A) D.C. 3ix fi mﬁmﬁawﬂmﬁl
(B) Hrqnwwhc—q%%e

(C) =1 fopomradt 2 |
(D) SRR Fa) Trehi B e R |

The sensitivity factor of strain gauge is normally of the order of

Qg)qlms (B), 151020 (C) 05t01.0 (D) 5t010
AT iish T FAHIR |
(A) 1815 (B) 15820 (C) 05810 (D) 5210

Fibre optlc sensor can be used to sense

ent (B) Power (C) Current ) Resistance
'%Tgﬁ'(?a%éﬁ k ca@{ﬁr ) %mm(gﬁntesl :

(A) T (B) wfew (c:) K (D) wfy
When an ammeter is inserted in the circuit, the circuit current will
%A; Increase Decrease

Remain the same None of these

w8 gt ) aitay # fafre R smar & o TRy ) amg
(A) sEftg1  (B) SR IR I(C) TREARR (D) W A%

The sensitivity of a multimeter is given in

(A) Ohn% (B) Amgeres (C) kQ/vV (D) None of thest
(A) 3 (B) mf&m (C) kQ/V (D) ¥ =

An electrometer amplifier has high input impedance of
T TR RS ot 3= P wheny R
(A) 10°Q  (B) 1020 (C) 1020 Q (D) 104 Q)

Code No. : C-816/2022/Series-B 12 -



6S.

66.

67.

69.

70.

71.

Which ,, .
ft i lies to an i (7 . .
(é)) ]l;ﬂgitigi t‘?g‘:;:::?g w "}%‘;’E IEl:-'i.l‘.l.;u.lflr.::':ﬂGE / Homing point
%q ﬁ gteﬁhming distance (D] A“ of thes€ ®
(A) PN gy &7t 3 0T ER 5 Ee oo
(C) T o (B) xwwd/EHT
Chr TR Fafr (D) a@f I
h OMatography is a physical method thy js used to separate and analy
(C) Er‘_“‘l}le mixtures (B) Com;;lex mixtures .
aglgz‘mmcﬂ i D) Metals
Yy qu%w;aﬁ'%ﬁ;%gwmﬁaﬂtmﬁ%
3 3 |

(A) TRy (B) FR@ B () v BT (D) "Tg

' - - tities
Science of precise and accurate measurement of various physical quan

1S t
1; ergl:edu.:sln ) Meteorology (C %; Pedolo (D)awghgfi%mmgy
Wi %ﬁgqm 3R TUTY Hree % Fr |

(A) Wiy (B) wae-fmR (c) @ REE o (D)
Which of the following cannot be treated as a reguirement
instrumentation amplifier ? :

P (B) Lowinput impedance

of the

(g) iilow e )} None of these

igh lineari on
%ﬁﬂ%m%mﬂ@WﬁmmHﬁ% ?
(A) P yarE @) fr=t fraw wfemen
(C) =g (D) T A B T

fication of low level signal can be done using _

&I?piil:ca;:r;;:wrua;pﬁﬁar (B) Difference amplifier
C) Inverting amplifier (D) Non-inverting amplifier

W R & T S T R R |
(4 ; o) A-FAf TATERR
(C) TN TABRR - D -?

: oh circuit is called as regenerative ers?
Whic circuits % Di ltglo 35:#2;

© A;"#pﬂ e ol e e § 2
A A LT ) Rfewatie (C) Tfiemd (D) AD wdd

(A) ; the data compression ?
. -h device does the B s
[ hapnel encoder iDg None of these

Eé; S‘gﬁ;ﬁg < Rrcefteor e & 7

P s (B) WHEHS (€) TR (D) FHE
(A) 13 Code No. ; C_-irﬁl?ﬁfﬂ‘s‘e"‘-“:ﬁ
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72.

73.

14,

75.

76.

77.

78.

: . hanges
Digitg) communication 15 —___ to epyironmenta gnsitive
(4) £ss sensitive (B) mort; t::,fthese

Oes not depend (D) Non
' LR J U
©) et ® A i
) Ptk st e (D) FHERE
What are the gigadvantages Of digita] communication

(A) Needs more bandwidth.
$ more complex.
(C) Neegs more bandwidth & is more complex.
fglsgf% these 57
HATH 1
(A) At Sefrgy A aw@ d |
(B) I sfrer

(9) Wmﬁwaﬂtmaﬁa%l
(D) =% § Y 7t

Analog information is converted to digital data using
(A) Sampling (B) guantization (C) Codin (D) All of these
Qqﬁhﬁ@méﬁmm R SR BT 8 |
(A) wforaem (B) ®|HI=W () +fm (D) Fueft

gg\; many cycles will an AC signal make in 2 seconds if its frequency is 1(

E‘Tﬂmﬁmmmﬁaﬁwwﬁm%mmmﬁnmﬂz%?
(A) 50 (B) 100 (C©) 150 (D) 200
What kind of quantity is an electric potential ?
(8 :e:ltor quantity (B) Tensor quality

calar quanti (D) Dimensionless quanti
%aqa-ﬁﬂafgmsrgnﬁuﬁr%? e A
&) s (B) sRwaRr  (0) sRwaR (D) ufmmrfE of

First Chief Commissioner of HP was

(é)) E;C%hgﬂlfl’ta (B) E.P. Moon
.Y.S. Parmar (D) S. Chakravarti
ROSEAIEFRTR ) i

(A) .4, Agan ' (B) .

(C) . s.@8. W\ R . (D) ©E. et

Oldest princely state of HP was

A) Trigarta (B) Suket 'C) Sir
?) 1i S TR (&) 2;Tlr::m:nu:r (D) Bushehar

(A) Pord (B) §¥a (C) Tk (D) T
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79.

80.

81.

82.

F:;ln lest place in HP is
C) ?haramshala Baij“ﬂth
Ngindemagar (B) ghimla
A S 3 it aw Aoy ) g P
. ) Wiyer (B) &AM = (D)
hiptin i

£ mountain pass connect ith |
A) Chamba (B) K.ang:na‘S Bhar?gurg:“u (D) Lahat
AL S F S e
(A) s (B) wimen ©) T (D)
Which is the largest glacier of Hp 9
(A) Gyephang (B) The Lady of Keylong
i Ba%ghignﬁ . (D) Mukia

; <l Wlarﬁﬁ ol : LI
(A) =g Q(B?). = et
(©) w31 R )
Vedic name of river Chenabis | .

| (D) Kalind!

(a) IR (@) R () vt ¢ (D) HIeA
Karali lake is located in which district of HP 25

83.
(A) Shimla (B) Dharmashala(C) Manali, ~ (D) Udaipur
w0 i e wen F e fd Rmt e
(A) frmen @) wimen | (C) FAWR (D) W

84. Sirmour princely state was foundedby
A) Rasalu (B) BirChand (C) Bir Sen (D) Bahu Sen

Tt T m‘wrﬁaﬁww o7 |
(A) WG (B) ¥R (C) (D) =g
: Kangra fort in which year ?

85. Jahangg%agt:;dﬁ mmomwﬂamm? |

(A) 1620 (B) 1621 urm;C) 11322 ®) 1625
. Bi cC in which ? |

86. Jhugga n%m%e:;ent in Bﬂ%u;f% dgon ch year
(A) 1883 (B) 1887 5 ((;'{) ;:913 . (D) 189

87. 1:I\:‘v“hi.:;h is the exe%uau:zs %S%é“% Y 5;0;-!10 Project ?

(A) BBMB  (B) HPSEP © PSEB (D) Nrp,,
X8 Code No. : Cg1ammo.



way line of Hp 2 ot - Jogindemagar

88. Which is the longest rail path
(A) Kalka — Shimla Charalu gg; None of these
2 Na%‘%%@mﬁmﬁwﬂwm% P G
(A) T (B) e AFE T
(C) TTe-F1-ITG - D)
89. The first Vice Chancellor of HP University Ne LS. Negi
(A) Dr.B.S. Jogi (B) Dr. %

C) Dr. H.R. Kalia (D) Dr.RK. Singh
o gRafid % vEe FerIfd q | h
(A) @i. dft.ug. anft (B) . @gﬁg
(C) @l w9.3m. wifern (D) . AN
90. Sikn is a folk dance of which ldiatrict of HPI‘E |
(A) Sirmour  (B) Shimla (C) Kullu
Wl femrae wew & for et 1 S & 2 By
(A) TR (B) Rmen (C) F. (D) =«

91. Sari fair is celebrated at which place of HP.?

(D) Chamba

(A) Sarahan  (B) Rohru (€) 'Arki (D) Bharmour

T Ao fymmaet vow % 9 A e W A R 2 |

(A) & (B) &s (C) i (D) WRHR
92. The most abundant metal in the earth’s crust is

(A) Zing (B)- Co (C) Aluminum (D) Iron

gt % Mg F Fed SR A uTg 8

(A) S&@ (B) e ©) whfrm (D) @

93.  One of the best solutions to get rid of non-biodegradable waste is
(A) Buming (B Dumping  (C) Burying (D) Recycling
a%a-ﬁﬁmﬁq ﬁﬁwﬁ%mmmﬁﬁ@m%
(A) SAHT (B) ®R&wwm  (C) TEAMI (D) H:=F0
94. Which cell disorder in our body is responsible in colour blindness ?

(A) WBC (B) Conecell (C) Rod cell D) N
i ot 5 e 1 s B e 5 () Newron
(A) WBC (B) IFHRE (C) I BRH(D) g Fiftr
95.  The primary source of carbohydrates are

(A) Marine animals (B) Plants
(C) Coal tar - Crude oi
). Co el - (D) Crude oil
(A) sgsiynft  (B) W (C) =mw (D) w=n3=
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97.

98.

99.

100.

101,

102,

) - Vae
l- L 1
(A) Ca!m atte Ne the word ‘C’ stands for

B.C.G. ‘éﬁﬁﬁ (B) Cough '
(C dmium

(A) w WBC WM% } l:hl':rnrinf: (D) =

Light wayeg, ) % i

(A) Electrj, Wavc

C) Ele

© ;(%ﬁ dgnetic wave Eg) Mﬂgnctic wave

A) ) Electrostatic WaVe

‘ %

© %mmﬁ (g; Wt o ©

Solar energy i Converted into chemicy]

(A) Transpll‘atmn Eﬂﬁrgy during

(C) Diffusion ( ] Photosynthesis

%mmﬁaﬁ - ﬁ ) Osmosis
m{ LG
(A) (B) m—aﬁﬁm(c) fami?ﬂ ™ (D) TE

The substance which conducts current in the solid state is

(A) Diamond i
(C) Iodine p y
) ida (B) IwiEe (C) R (D) difeam FANEE

Main constituent of liquid bleach is
(A) Hydrochloric acid
(C) Sodium hypochlorate

(B) Sodium chloride
(D) Sodium hypochlorite

Za scft9 § 9T 99 8
(A) TR Tt (B) WieTm FANES
(C) wfean grEiaine (D) W TR
mn—;ﬁ;ﬁimd uzfl;)q mﬁnﬁ:: (C) Fluorine (D) Chlorine
ﬁ”;fﬁ"f “(‘g“ﬁ,%m €) A (D) W
(A) o demﬂn d only when it is backed by the
A ‘want’ become (B) necessity to buy
(A) ability to P";c utility of the product
to.bu mﬁ}ﬂ
(C);desm wach &9 (B) Gﬂﬂﬁﬁm
T “ayaeaean A
(A) e g (D) I I
£

(©) gle Code No. : C-§ L T
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103,

104,

105,

106.

107.

108.

st ?

Which is a charaCeTistic o Laissez faire syster”
(A) No government teryention
(B) Market forces &t higpyy o 1oied
(C) 1t is a socialist Systep,

D) Maximum g0Vernmen; interyention |
( -gﬁw?ﬁmmw%? ) mﬁﬁﬂ'ﬂﬁﬂﬁﬁ‘@&ﬁ'

o ! (B T TR |
(C) ¥g v wreET SO § | (D) TE

Galloping inflation is alsg kno , ;
(A) ‘I;falgking Inflation (B) Running lﬁlftlla;:?onn
(C) Hyper Inﬂa‘t:‘i’fon N (D) Creeping
v whif 78 Wt e ~
(A) w=dteffa  (B) m'@ﬁﬁ'{ (©) sfwhfd (D) T =iy

Which is a feature of Presidential form of government ?
(A) 1t protects the freedom of people. :
) It ensures the Speedy execution of policies.
(C) Fix term stabilizes the system.
(D) All of these

(A) T o

A) T e |
(B) ﬂ%#ﬁzﬁ%aﬂamaﬁrﬁﬁﬂmm
(C) Tor srafly woeht =t worge e & |

(D) Jwft -

Article 19 of the Indian Constitution provides

(A) 6 freedoms (B) 7 freedoms (C) 8freedoms (D) 9 freedoms
VTl Hfem w1 s 19 e e o
(A) 6% (B) 7w ©) 8w@ad (D) 9w
What is the age limit to contest for the post of the President of India ?
A) 25 years B) 30 years C) 35 :
%%aaé'gqﬁaane%)m%mw(%mm? Lot
(A) 259§ (B) 30 (€) 35%d (D) 45§
First leader of opposition in Lok Sabha was

§ aimer G oo
e 3 i 2 g 1AOhoba Pate
(A) €. 3R, Rz B) . rer

(C) wE. TurFeH (D) wewrvm qde

Wn as

Code No. : C-816/2022/Series-B 18




(GA) "-Bl_fneht “t:)ﬂt Seeks to reduce the

13 li
©) Ecqipprﬁva ' known as Mount of gemand PIES

I of polic
PR gry oy oy i (B)
(A) ey Token cut
q”m S "y £ AT &) LG m (D) \;m:t‘:}:l;ccoun;wm %

ented by

R gt Of Parliament (D) ST
m”ﬁ . : S ' )
(A) 12 it a9 Hiet (ﬁ"%qﬁ;‘“#‘mya Sabha) of West Bengal is
111. Who appo; (B) 16 &
(é) Gwelf:zrthejudges of district ené? : I8 (D) 31
8
% Law Miﬂist&r (B) Chief Minister %’ué

112.

113.

114,

115,

116.

(A) wl_ﬁ"@"‘ % T aﬁqﬁﬁ(% gr;,-sidem
(F) g (D) Tgufa

Pri
(C) Governgy ster (B) Sarpanch
?:S-—ﬁﬂq %; Ay F £ (D) Mayor
(B) @ (C) Ts9TE B
Und i : : (D)
er which Article of the Constitution, the President of India can declare

cial emergency ?

the

(A) Article 352 (B) Article 356 C) Arti g 1

_ le 360

gfeam % feg %m,,m%{ ﬁ?ﬁfxeaqm )é’%?%%?

(A) JIFHWT352 (B) FTBI3S6 (C) ITBT360 (D) =T 368

T}ilf Iédt;; valley pe(gple did not know the use of which of the following ?
: 0 " (B). Silver C) Co Ir

g e i e e R R, ) o

A) @ @® 4 (C) W (D) e

Which of the following features is not associated with Buddhism and Jain; 9

A) Rejection of the caste system 8:3) Atheism ‘
i tuals and sacrifices (D) Rejection of the auth
C; %g%qas%omnn iﬁ.%mfaﬂtﬁ'-r (B)%mwgiqé% ?Dnt)'anedas

] hl
Eg)) mﬁwﬁmﬁ ST W T (D) % sftrm 1 areeene

@) @l © T (D) giqyy
/"'_’— 19 Code No. : ¢ :EREEEITS;;E‘L\
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117,

118,

119,

120.

121.

122.

' Ith
Vija is compared to, afor . 1 of wea
(AJ) y;n;% ‘lﬁzal s.c.-lf‘-g':wenm.le,net Che a(B) dlsplnf of 1and revenue

te
O, fore%n conquests (D) § F’m-eﬁ% I
%mqm e % 9 ¥R o 1 e
(A) Trsitor st @-THR g%ﬁm
(C) fdsfi fom D) ¥

, mainly because he
Akbar has been called the *Fjpg Natjonal King » mairy
(A) was a great administratoy
(B) established a new religion ‘Din-j-Ilahi’ I
C) provided an efficient government to the peoPIe
) was hi ghly tolerant and secy|ar in his outloo

I8
(B) 397w 7oy wdf ‘E-u- " weqyfiyer et &1 |
(9) mﬁﬁmﬁaﬁwwawgﬁml

(D) asm%qﬁaﬁwﬁaaq%uﬂaﬂ;qﬁaﬁaml

Who was the ruler of an Indian princely state who allied himself with tt
French ?
(A) Nizam-ul-Mulk Asaf Jah (B) Alivardi Khan
(C) Saadat Khan (D) Tipu Sultan
TISTEft T 1 9Imeh S o7 5 whTedvedtat 1Y S T AT 7
(A) Fm-9-77% sw .~ (B) srcfiad w

(C) sgaaEnm (D) ¥ geam
The Dravidian style of architecture can be seen in
(A) Sun temple at Konark

(B) Mahabodhi temple at Gaya

(C) Dharamaraja — ratha at Mamallapuram

(D) Jaggn;ath temple at Puri

P T R @AM EFar |
(A) Homes 3 g3 6y (B) TR ¥ wgraief sifiy
(C) ameengey # e (D) FOF ey iy

Fresco paintings of Ajanta caves is the art of

M K C
WHT(A) I!:ﬂ Mﬁ%ﬁﬂw) usl%n:%_' 3(| ) Guptas (D) Rashtrakutas
(A) (B) Fum ©) = o)
The ancient lI;imf: sta; cr;ft:a and polity zsc q)iescﬁbed it U5 T4
Mahabharata jatarangini (C)
%m%m% 3R T 7 Amﬁas#“%q?) Manusmriti
(A) WEMRE (B) Tmifieft  (C) s TR

D) Wy
Code No. : C-816/2022/Series-B 20 @ T



129

124.

128.

126.

127.

128.

129.

111C 1ITSt d

(A) Alaugs® tuler to organize Ho: o
.ET% %‘?kbardm ilji rganize Haj Pl}gBr)imﬂge A the cxpenSe of the state was
Eﬁ q-t El‘u ec
W GIETIEN IR Tughlad
%3 Iy B%Fﬁﬁ mg)%' %ﬁf‘wg:i e o
(B) R
Quit Ind; Y T
YR Eﬁ‘g‘lfa MD'Vement was launched in(zl)l, g C]]
(A) 1929 gk ;hqyear ?
Who declareq ), 250 ©) 194, (D) 1945

classes are : “The only hope for Tk, ; oL
(A) Mahaphys‘caﬂy and morally dead;q;a is from the masses. The upp

tma Gandhi -

C) Bal Gangadhar Tilak (%% Gopal Krishna Gol:lhale

T faran o iR Swami Vivekananda
?E;Fﬁﬁqa%p? T 3TN0 S0 ) v v & | 9 1 iR A
C : | (B) Tiarer speor @
(C) =191 ' fyerss e

Wh (D) =rh fad=re
0 was the head of the Commi :
into Jallianwala Bagh massacre ? ittee formed by the government to enquire

gﬂ%ﬁg%eml Dyer (B) John Simon (C) Hunter (D) None of these

mmﬁaﬁﬁ'm,mmmm%maﬁq% ?
(A) STEERR  (B) FHEEH (C) & (D) FHARETE
The planets are kept in inotion in their respective orbits by
(A) their greatsize and spherical shape (B) the rotation and density
(C) gravitation and centrifugal force (D) rotation of the sun on its axis
UR 37! FHITHR &1 | gUTMR A wI & | -
(A) I Ram i s (B) wiomw 3R u S
(C) T 3R ATH & (D) & IEh! gl T afewwor

Latitude and Longitude both

(A) pass through poles (B) run parallel to the equator

(9} ru%}::;arallel %c;c%%ther (D) run perpendicular to each other
HEE &ﬂ[ﬁt

(A) yEIFATERAE | (B) ﬁaﬂg%mmﬁl

(C) T gE S FHIRR 91 ¢ | (D) TSI ITAY |

The cold and dense air blowing down the mountain slope during the night e

knownas | a
Eé mt&g;vmds EB% %mﬁl@ winds

ZAt T ay  wEaTed) avdt A E HETI &
(A) IN@TH  (B) gmtm (O T D) I ey

21 Code No. ; Cﬁﬁmﬁﬁ;““m
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: ; (D) «
1a
Jeaft e T & 5 gl CI) % (D) Ry
131, Long treeless grassy palms are charact C) pampas (I_J) Prairig,

(A) Campos (B) Llanos ( Y
“‘%2'3%“‘“’*&“ AR D) e

(A) (B) o=
Diego Garcia is in

A) ArabianSea (B)_ Bay of Bengal(C) Indian Ocean (D) Gulfof o
%?-Q’ﬁnﬁm HE

132,

(A) srm g (B) Mm@ (C) R<TEEIR (D) T Sy
133. Sung strait separates

A) Sicily and Ital ) Java and Sumatra
‘EC)) Jalgg :Ed Kor)::a - %g) Borneo and Celebes
S Soeqenyy HATR |
(A) fofeh kg L (B) a1 IR GHET
(C) mam sk it (D) &g 3 Yerey

134. Gangtok is the capital of
Eg)) EP (B) Arunachal Pradesh
N
oy b,

(A)

© b (B) It wour &y

(D) I Tt §
135. Gir forests are located in -
A) K Gui
1('31'()?1:{ erala 3 %(B)g IAssam ©) Maharaghtra (D) Gujarat

(A) ¥ (B) sEm OB (D) TR
136. Idukki dam is Constructed on which river 9
A) Kirishna

R S ¥ O P ) Ghapnt
(A) Fom (B) wmaf ©) ¥ap

137. ‘MP’ is related to ‘OR’ an (D) wzmA

: o
isrelatEdtﬂ ’mthe same wayasE
‘MP’, ‘OR’ ¥ HEfa § 3t DG* crps & e e 1_

3w d | MR S T
(A) TX (B) TW

Code No. : C-816/2022/Series.B T (D) UW )



138. If

139.

140.

141.

142.

in S
be wrj Tajp, ‘
afe tl:enﬂ8 Code ‘SWITCH? is s

M%CQFZE? :
&K ‘C BT ¢ ,
(A) B%'ﬁm%gm*{ aﬁ‘WanG,ﬁﬂﬁaﬁrW%aﬁm

: D
Ravi wap, (B) BRAED E
ts BRAD
East a,['ld CO;?EEU to the u“iVErsity, HEC) BREAD . h(fzi which is in the
ahead ip the , $ 10 a crossing. The l'nads:‘ms from hlfi <ina
(A) Noryy,  °SPital. In which directjgy, ;1€ left €< 'y
%ﬁwﬁ?l e © Bt D) s 7 T & |
QA I8 AT WM Y ¥R W
R Ry e 10 T 1T 8, Py oy e e § | AR 2

A
(A) W (B) gftor © o (D)

Pc’inﬁn to ) 11} 1 ?
sister-ilf.la‘:_ ;’ oker, Madhu says, “He is the son of my father's brother’s only

" How is the joker related to Madhu ?

(4) Son (B) Brother é’ o Uncl

C (D) Uncle ,,
ﬁﬁﬁamﬁﬁﬁ R, a1 R Fon 5 1 e et T
(A) ¥ (B) W () wRm = (D) ==
On January 12, 1980 it was Saturday. What was the day of the week on
January 12, 1979 ? = vBiy. ndindis
A) Frida Saturda C) Sunday |
gﬁ)ﬂﬂ ?2, {Qsoﬂa(r%)aﬂ; |Gﬁ§ﬂ12€ 1979$mmaﬁqmﬁa qr?
(A) TFHaR (®) whER (€) WER (D) |HER

What was the theme of the World Environment Day 2022 ?

t in our Planet (B) Only one Earth
%é; g%‘é‘e;:nvimnmem Day (D) Live with the Nature

- ?
Ry yatater g 2022 wﬁwwmm) Nevom gl

7e & P o
i ti
143. Eﬁ‘%’é“ ) wﬁﬁm%wéaﬂﬂﬁmm atican City
AT E"(Bi ) dome © T (D) e
(A) % rwﬂﬂﬂ‘y decided to conduct a caste-based census nameq
144. Which t Ganana’ © (D) Jharkhang
‘ UP , d
(P g e R et S
e ? ® = © TEEE (D) W

(a) R 73 Code No. : C816/203375 . _
v// ﬂseﬂ 3



145,

146,

147,
148.

149,
150,
151,

152.
153.
154.
15S.

156.

ta’ SUPET computer ?

Wh[ch institution recently uny eiled ‘param M;ﬂTﬂuchlrappalll

(A) IIT Guwahati

C) IIT Gandhinagar (B; [T Madr@>

an . D 7
a T 3 g1 § T aﬁ?f*gq;am{a( ﬂﬁ%
(©) 11T MR (o) 1T

_ re in news recently, ny,
Bandhan Express and Maitreq Express, which W€

B> o and ® Sl B e P o1 ey
hREASGHCE Pk T N &1 3 ram A

;T)?ﬁﬁ??;r (B) sfiwim () ey (D) FEHR
&l‘l)tmé);?i::;‘hdodeg;e Eﬁvnluﬁqm;y (C) Nihilist (D) Anarchist
?:)rmlfit;iii?;lt W?JIS;)s Libility (C) Liabilty (D) Liabeelity

One word substitution for ‘Bringing about gentle and painless death fron
InCurable disease’ is :

(A) Suicide (B) Euphoria (C) Gallows (D) Euthanasia

By this time next year Rajesh wil] his university degree in marketin,
management, \

(A) bastaken  (B) had taken (C) havetook (D) have taken
Meaning of the idiom ‘Queer Somebody’s Pitch’ is

(A) Upset one’s plan (B) Reprimand him
(C) Check him (D) Work him up
‘e Frerrer’ et @ aref &

(A) agm (B) W (C) ¥ (D) e
‘warty’ & e §

(A) &= (B) e (C) wgshify (D) s
TE IR 8

(A) uf& (B) weht (©) W D) wh
‘AT =ty frede &
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1. Lap Winding

(A) low cuneDPTEferred for which type or
(C) high cypy tand low voltage  (B) Tthines? high Joltag®
A9 AR ﬁ;;“t and low voltage (D) | igh curren* *‘t:__‘ high voltag®
A) = %mm%mm;wcmmt an
Al ?
fao=t e b dreedl
(D) i g 3T
yp in self excited

58. What is /are th ,
generator ? e necessary conditions for vojtage puild

A) P
EB; F?:; Slffould contain residual flux,
© Ficld anding should be properly connected to
winding resistance should be less than critical

(D) All of these
o S s e g e 3 o e e e /8 7

rmature winding

rasistanw-

159. Series generators arc used in which of the following applications ?
(A) Aircrafts

(B) Arc welding |
ters in dc distribution Of transmission.

(C) Usedas boos
(D) Allof these -
mmﬁnﬁammﬁmmma? %
(A) FEIM
(B) 9
(©) a1 e & atfen 1 78 ST
@) aaf
circuit, voltage act:lo:i fteag:gigfor. inductor and capacitor are 5V,

160, In series RL _
2V and 2V respectively: Find to

. G
2 Free AKX |
e ®) 4V ©) 2V D) 5V

A) 9V
Ny



on ana vis
161. A 60 Hz frequency Voltage y, b 1o WP o second.
(A) 60 tir:;ls per second, ould Cﬂ“’*‘; b‘fzn gimes P
( 0 tgincs g ﬁ'ﬁ'ﬂ 2

(C) ?0 times er SBODIld.

T 60 Hz m%ﬁaﬁmmﬁ‘%

(A) 60 @R wfe qH0S 12
162 (S 20wR 3y g sﬂ‘mﬁ
» The rms value of sine Wave jg 100 qk value 15
Wmﬁmslﬁ"ﬂlaﬁlﬁgl Almp:ﬁ.@fn 3 A.
(A) 7074, (B) l414 f‘“‘ﬁg oA (D) 282

163. Which of th ing i
e followIng 1S a vecyor uantity 2. - .
ToB) Flux S0 cability.

A) Magnetic field intensity
C} Magnetic potential. ' B lative perm
%ﬁ_ﬂaﬁq@a Rk 7 ) ke
I @ e g) FAforarg B
(C) qushiy v 503 FrfareR ATl
164. Which of the following rotor is used in thermal power Plants ?
| Salient Pole rotor
cage rotor

(Cy, Epndrial rotor B Squi
E“ﬁww%q%sﬁwﬁﬁﬂwm ' :mi?#ﬁmmt? i
(A) SRR iH®B) TEE gaiec) atdaTs (D) fie

165. Select the motor that should not be started on no load ?

gA Series motor tor
C) .Compound motor. B DX t
39 HIK 1 gfe @t fwi e 73 o ED ]?msmess Bt
(A) 3roft giex (B) ¥ HIA
(C) o | (D) fom wreraTet Eelt AR
166. A shc;gt p%;ctiit test {H}l la mformer gives :
I loss at fuill load. | copper loss at any load
copper loss at half load. ' ed ;
el oty A 8:3)} cuppe; loss at over load.
(A) T R R AW & B) forelt R W amw a7
(C) A9 YR W a0 &7 (D) fer wR R a1 g
167. The critical resistance of the DC generator i i
(A) field  _ (B) brushes> (C) ‘iﬁﬁ‘;{ﬁﬁéﬂ"“"‘&?f l
Sl SR 1 il arady AT | oad
(A) &= - (B) == (C) Imisrx (D) W
|68. Short-circuiter is used in ' 4
| repulsi
) namasion motor

;&i repuullss_ion Sg‘ttir:lctian' motor e
ion start induction

o A e (-

(A) witrerefor Sreor et (B) Wferdor iy

(C) witerdor St 3o et wiet D) ¥ & iy

ode No. : C-816/2022/Series-B 26 T ———




167 i’i?' alones 8 congig d
'ng linﬁ €red as
310 ﬁ?'lﬁ E’Iﬁqﬁm) a medium line (¢ i None of these
(A) Ty ™ AT Mg | ot line (D) NOO

é; pgressu?ilfea{] l:v?a‘feer Plant has which ty,,. ﬂtﬁﬂé? ) () FHIRR
TR %}%Pg e m;ﬂl;garg.tors. ?ﬂ% Builirzfga?.:r{;er type.
(A) T = B Sfereer; .BN“-'ne of these-
ST e W U
() CANDU w1 seferes Eg) e SR
171.  Skin effect depends on R LR TR
Tq; o %ﬁ'{% I All of these
(B) wemrea
(C) Mty wreremEn (D)

172. Inany A.C. circuit always :

A) Apparent power is more than actual power
Reactive power is more than apparent power

C) Actual power is more than reactive power
Reactive power is more than actual power
A.C. 9t |

(A) mwmﬁmﬁ%mmy
(B) wftremas st 3wt a1 @ ST BT # |
(C) TRt st iaTas o1 & SATGT B 2 |
(D) WfeaTds g aRatas 9 & e A e |

173. Four amperes of current are measured through a 24 Q resistor connected
across a voltage source. How much voltage does the source produce ?

A 92 g€ 24 Q TRy & 4 (R Y G Wi 8 | T et S
I HUM ?

(A) 960V ®) 96V d(t?) 6V @ v
174, Wbich o acid baticry " (B)  Nickel ~ iron battery
EC; cell battery Silver oxide battery %ﬁ
CICCIE] foru P F @ B H At wE A AR R 7
(A) ae-gs & B) Fwa-amw ¥h
©) o ¥ ¥ (:;l) e siteege Aeh
' : : tri tions to !
175. qu-o]l:erg.? eiﬁl%gc 1:1 ?epal;iildgm the elec i cgﬁnggﬁuntgﬁmagmd battery
istan prevent corrosi
é‘%} reduce BEL L & Rrg A I 1 §
AN (B) We-aidien e 5 g

(A) T e 5 % e (D) He I % firg
(C) E.‘i—-—*"'f 27 Code No. : C‘“mﬁz?%;rm
°s-B




176.

177.

178.

179.

180.

When using ohm Mete; m the

: _ .. to be disconnected fro
circuit because . Pplieq voltage 18 b
A) Voltage SOUFCe Will iy
B) Current will decreag, “Tease registance
C) The ohm meter hag j;. *Sistance
D) None of thﬁ% internal battery

(B) muﬁrﬁuﬂﬁﬂw%“.‘ﬁm% |

(C) nmfiex ® TR ATl w2 |

(D) i & o e

In a moving iron meter, the 4 - : ional

(A) current through the c‘;ilﬁﬂectmg 'E%T;l u;ﬁ%%ﬂm through the coil
(C) sine of the measured (D) square root of the measured

(A) Feht # @ o (B) Feeh # & um

(C) iy =t | (D) e 1w

When a capacitor Was connected to the terminal of ohm meter, the pointer

ind‘icated a low resistance Initially and then slowly came to infinity position.
This shows that capacitor is

(A). Short-circuited(B) Al right

C) Faul None of these
ST TR A oAteR 3 o § e . o e ot & v SR F

m%%ﬂzmﬁm&-aﬁm@ﬁﬁﬁma | 7% zatar & e wte
I

(A) WIR-§fwes . (B)Y && +  (C) sl (D) T A B T
The size of the earth or ground wire is based on the
(A) maximum fault current carrying through the ground wire
(B) rated current carrying capacity of the service line
(C) depends on the soil resistance
(D) Both (A) and (C)
T V- FEYHT AT ST TR 38 Wi #
(A) W-TFsh TR 8 & T Jead Fiage o
(B) T8 o Fraiftg ar T& &
(C) wa1 wfeay
(D) i (A) 3 (C)

Copper as conductor for cables 18 used as

Ann Hardened
{é Harc? iidl.r‘ﬁ{a‘dw.m gé Allo; ﬁfimagﬂr?n‘ﬁ%;ﬁd
ﬂmm,m%mﬁmmﬂﬁ?ﬂ) Iy .
A |
EC% HSR Hiud N (D) wiftram ¥ 'GIF-'I[ é' &

Code No. : C-816/2022/Series-B 8 000 T ——— |



A ous OF speed, in a synchron
% } mdu us SDEed du.ring huntlng, theotll]: machine hﬂﬂﬂmes more than thﬂ

Syrlchfr Motor torque R Mper hare |
velop
n gﬁ 'Hducﬂgfgeneramf torque
!

T ' de orque
%m%@ﬁwﬁﬁﬁ“ﬁﬁgl am%notort IV, e @ e
(©) Tt s o ) ﬁmmmag%ﬂﬁ

182, D
II};L a t\;ir? :aﬂllle‘capaf:itﬂf motor, the Cap( ac)itjﬁ' - 1r at:nin cposcs
; ; ce;am"iﬁ*"““‘; {[B) pa]f:f J,};EE& oil ﬁﬁed type
(C) Rfys (B) A g e fhes TR
AT (D) u ), TN FhN

183. (Zﬂelé‘éiﬂmflie are ge?gliall _lll;ade of
anium ilicon C f these
TS QUTE: J T BT é l) Carbon (D) Noneo .
o @) T @) R (© ww @) AW
. .dzkee ensilil;Ed t6 :
cgmlge direction of magnetic lines L
EC; restare Joat fux D; ;rrl;%ilgg :fa] l{‘.‘-litosed path for flux

HIHR AT
(A) Sabr vt 6 R aee % R (B) o ) a9 5 o
(C) TN TQ FeTa ) a9g @ & ferg. (D) o % fere gg 94 3 & e
18S5. \Kl;lcjl‘_l of ﬁ:ﬂ followgr)lg ii.la fenqmagn(eéi}c néaterial ? (D) Nickel
ungsien uminium 0 T 1
L IR
(A) TT=A (B) waffam (C) FW ; (D) Freet

. ino is not a unit of inductance
186. Which of the following is not a 0 {B; Conlomb/volt ampere

A) He
C; Volllgecond per ampere All of these

it it s AT 9
- (B) Wﬁﬁ?l{fﬁm ‘ Eﬁ
(C) dee &S Wi T (D) Awf

187. Power factor of an electrical circuit is equal to
nce between current and voltage

A) R/Z _
1 hase angle differe
gi :af,tsi(lJn gfg lfsl;ﬁll t::urr%nt to total current Tw/l

Al Df%mﬁwwifma

e
(A) RZ %ﬁammaﬁwmmmﬁ
(B) mﬂaﬂ?ﬁqﬁ%mﬂm Iw/l

Gode No.: CH 16/ eriny



188.

189,

190.

191.

192,

193.

An instrument which etect electric curI'B“[ i ,metﬂ' \W)  udlvanometer

B)
%) Voltm;}tﬁf ( Eostat %C (D) #ed3

(A) e (B) f&h@z (C)
Which is the best conductor of electricity ’ COPPer (D) Carbon

érgﬂh'on S'l‘"ef (€)
B 7 a0 (D)
(A) =@ (B) Rl (C) ies with a battery acrogg

The four bulbs of 40 W each are connected in ser!

them. Which of the fol lowmg statement is tru®

(A) The current through each bylp i5 same-

(B) The voltage across each bulh js not same-

gg) The power dissipation in each bulb is not same:
) None of these

(A) TRIF gos o T THH Bt |

(B) Woiw g H dieedl SHI TE Beft |

(C) Wi wow & Wi YT WO 7 Bt |

(D) 78 & F1E &l

Blocked rotor test on induction motors is used to find out

(A) Leakage reactance

(B) Power factor on short circuit

(C) Short-circuit current under rated voltage

(D) All of these

TSI Hied W Ha%g I ST T J1a H 3 fore Iedm fepan Fran @ 2
(A) & ioET (B) ™ ufdhe W wifekt T
(C) i Sieem & 37et M wfthe a1 (D) ¥ wsh

In squirrel cage induction motors, the rotor slots are usually glven slight

skew in order to

(A) reduce windage losses (B) l'f-'dllce eddy currents
) reduce accumulation of dirt and dust%%) reduce magnetic hum
ﬂwn’lzafﬁ U fiog wT=re: 918 28 B § iy

(A) TEHTRR &5 F) 0 G | (B) ¥ R oy s |

(C) T sy WA FHH TS | (D) T o g |
A Buchholz relay can be installed on

Code No. : C-816/2022/Serles-B

' air-¢
%} \aﬂgﬁhggngglr;lf}:rrxsners Eg; 0il cg&‘gg tmn:tfonners
THEIe 1 EwR | ormers
- (A) 7 wftomiE (B) I ¥
(C) vz wiwmf (D) amnﬁawm"t"“&'ﬂ
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4, 108 UUNSIOMN

mica su-i;’t laminations are insulated

S g tper ) e ofmin

mr@_ B 2R a‘_‘%ﬂne of these
((g m@“ o (B) wagmﬂa?ﬁ“'
W of the followin A PN TE

equipment direc : d?
Teleghones” (5). Retays (O e abes(D) Al o these
A Iyer 3 foE AT <HY T Bt R 7
(A) e (@) ©) wiwm @) W
96. The minimum requirements for causing flow of current are
A) A voltage source, a resistor and a switch
B) A voltages source and a conductor
C) A power source and a bulb .
A voltage source, a conductor, an ammeter and a switch
RN 1 YETE HIRG H Bl W ATEHa 8
(A) Siezan Igm,

oRiF AR (B) Aeedl IgW IS
(C) W Igm N T

(D) Sz 3G, AT, GHIK A=
197. Leak transformer is a sodium va

(A) High current (B) Low voﬁ(;ur l (C 'itﬁli{iéﬂlxogrw?géd(e&) Low current
(]

Ehﬁqftwrﬁaqmﬁﬁéwwﬁm%gsﬁmﬁ e |

(A) ¥ W

B) F=EawEa (©) s aeeal (D) P um
198. Which law states

that.in closed electrie circuit, the applied voltage i
the sum of the voltage drops 7 PP ge is equal to
EA; Ohm’s law

B) Laws of resistance

C) Kirchhoff’s first law ED Kirchhoff’s second law
aﬁﬂmﬁ%ﬂgm%ﬁﬁaﬁgﬁww FITIF dleedl, Aieedl UTd & a0 %
U ?

(A) 3w frm (B) Ihrw % frm

%:) frrs 1 yuw frm (D) Te=Ts =t Tt formy

199. Conduit ;ﬂpes are normally used to protect which cables ?

A) Unsheathed cables Armoured

EC; PVC Sh%rathed cablef%m 2 fg :g_lélga thf;sqe

it S REAEARIRIG GE HEA 39T § o

(A) T HaY, (B) wafum ST @ 2
© Eve d cabl laid {D?il ﬁt?ﬁ

€S ient de
200. Undegground ables s ad st suTcen &7 @
By To avoid being unearthed easily due to removal of soil
& To minimize the effect of shocksand vibrations due to gassing vep;
All of these 3 Faorg icles, ete.

(A) mgzaa;mmﬁﬁax— B T
EE)) a@&;ﬂﬂﬂﬂﬁﬁwm 1 I H T Fy
D) 3T __— -

——
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